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NETWORK ANALYSIS

et ama ; 392 [3TTRreRaw 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
qAg: (i) FEIAAATGEETC @eagH S/

Note : There are three sections A, B and C in the paper.

(i) Q¥ U I I GEIT 1 F G 10 9T & I A1 | T YT Uk 37 FT 8 0T
Gt 10 977 TG THR S T F & |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT &t F 8 FvA 4 T foregl 6 Fv1 & I Horq | T F97 3 37 FT & Tq
§THI 5 TA/50 Vo5l G I 17T |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) QI B 6 I91 4 @ 3587 4 I571 F I AT | T T97 8 37 HT & TG
§97 15 cT159/150 sg) 7 IR &ifora |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) FF% QI % G T H1 FHIR T G 5 Hitord |

Solve all the questions of a section consecutively together.
(vi) @l st H iR g7 ) R 7 e sgare A 8 |
Only English version is valid in case of difference in both the languages.
R - T
SECTION - A

1. (i) fogA9B®ne e favaEm -
Equivalent voltage between A & B will be

A——i—f—
2V 5V
(@ 2V b) 5V

© 7V @d 3V

(1 of 4) P.T.O.



IE3005

(i) feig P 7o Q % wed qeu e g -

(2 0f4)
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Equivalent resistance between point P & Q will be

6Q Q 3Q
Pe MMV ® AN

(a 20 (b) 9Q (c) 18Q @ 3Q
(iii) TS fova T ITMTHA E -

(@) H.Alua o ) HHwa. T

(c) ATCATE YTl | (d) 3TeH

Node voltage is used

(a InkVL (b) InkCL

(¢) In Laplace Transformation (d) In Resonance
(iv) 3TTeS ST B T JAiaieh i gar & —

(a) IH (b) 1003M8H () 3F= (d) 5000 37gA

Internal impedance of ideal current source is

(a) Zero (b) 100 0hms (c¢) Infinite (d) 5000 Ohms
(v) SHUEEY TER ?

(@ L=ZVi+Z;pV, b) L=Yy Vi +YyV,

© Vi=YuL+Yph d Vo=ZL+Y,V,

Which relation is correct ?

@ L=ZyVi+Z;pV, b) L=Y;Vi+YnV,

() Vi=YpL+Yph d Vo=Z; L+Y,V,
(vi) o ufuy fave =1 3uFi wd § -

(a) o_fF AT d (b) TATHIH

(c) IR Y= | (d) ToredT v |

Open circuit voltage is used

(@) In Thevenin’s theorem (b) In Norton’s theorem

(c) In superposition theorem (d) In Millman’s theorem
(vii) sin wt ST ATATH ST 8

s+w S—W S w
@ a5 b) 27w © Frw2 d) Frw
Laplace transform of sin wt is
S+w S—WwW S W
(@ o1 w2 b) 22 © Zxw @ g7
D

(viii) 35 T T ATATH FITRT 8 —

(a 3e (b) —3e2t (c) —-3e (d 3e2t

-3
Inverse Laplace transform of ) is
(a) 3e (b) —3e2t () —-3e2t (d 3et
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(ix) Sroft 37TE <t Srereen # afae § ow gl @ -
(a) fawan  (b) faH (c) W d =

In series resonance condition, the current in circuit is
(a) maximum (b) minimum (c) medium (d) zero

(x)  t.ett o] AT TITRUT

1 1 4
(a) (s + 4)2 (b) 2E42 © —(s—-—T)i (d) 242
Laplace transform of t.e# is
4 1 | 4
(a) m (®) 2+ 42 (©) (s—4)2 (d) 2 — 42 (1x10)
Yy — <
SECTION -B

) Ed S aehies & F RIvE B ) T Ea § i i ;
Transform this voltage source into a current source using source transformation technique. (3)
A e——|—ww———1B
v 2
3. fRd el ST9uE 1 IETEU Higd TG HiST |

Define active network element with example. A3

4. Y-STSe % AT gHte fefau |

Write characteristic equations of Y-parameters. (€))

5 ifreram wifE Sfaww TR ! ferfeam |

Write maximum power transfer theorem. 3

6. TS T o i ST STl T shivd |
Find Laplace transform of unit ramp function. 3

7 frEis dees Frm 6 gerar @ 6Q giekiy H G S HIT |

Find current in 6 Q resistance using Kirchhoff’s voltage law. A3

6Q 20
—AVMWA- AN~

3Q

3.6V — 12V

il

3 .
8. mwwwmmsﬁﬁm

3
Find inverse Laplace transform of m . 3)

P.T.O.
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9.

10.

11.

12.

13.

15.
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Th SR-Te-H1 #oft afewer § R =40 Q, L= 0.25 H a1 C = 0.01 F 81 a1 3757¢ 3ng

&)

T T |
Find resonance frequency in a series R-L-C circuit if R = 40 Q,L=0.25H and
C=0.01F.
T — €t
SECTION - C

A o ) T @ 10 IRRY § o 7 o e IR |

Find the value 03f current in 129 resistance4u£s)ing Thevenin’s theorem.
Q

—'—Wv AWV VN v .J-

B

6V = 10 1A

freafefaa 1 ereere TR sTa B -

Find Laplace transform of following :
(i) sinwt (i) te2t

frerTaa w1 Yoha wTeetTs ST e BT -
Find inverse Laplace transform of following :

. 3s+1 . 1
(l) 2+ 55+6 (11) s(s + 1)2

fe e fg-e strer % fore Z st s iR |

Find Z-parameters for given two port network.

30 5Q 6
v AWV AMV -
4Q 2Q

T A0 TR -Te- ) i o for FrfRaa s sgeg=1 ifv -
Derive following relations for a series R-L-C circuit
R

Wm%mﬁwaﬁmﬁ4gwﬁﬁaﬁmmﬁﬁq |

Find current in 4 Q resistance using Kirchhoff’s current law.

30 4Q 50
—\VVWV\ MWV MWV
5V 2A 6Q sV

@®

(4+4)

(d+4)

®

1 R
(@ mozﬁ—z b) o =05 © o=ty ®

®



